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Thread TortoiseHareRace.java

package cc. openhone;
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public class Tortoi seHareRace {
public static void main(String[] args) throws |nterruptedException {
bool ean[] flags = {true, false};
int total Step = 10;
int tortoiseStep = 0;
int hareStep = 0;
System out. println("EREHEFG .. ");
while(tortoiseStep < total Step & hareStep < total Step) {
Thread. sl eep(1000); «— @ (s 1000 % - a2 18
tortoi seStep++; «— @eg+x—i
Systemout.printf ("2 T % ... %", tortoiseStep);
bool ean isHareSleep = flags[((int) (Math.randon() * 10)) % 2];
i f (i sHareSl eep) { )
Systemout.println(" G yEET 2222"); OBEHIER
} else {
hareStep += 2, «— @& 7 &M
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package cc. openhone;
public class Tortoise inplements Runnable {

private int total Step;

private int step;

public Tortoise(int total Step) {
this.total Step = total Step;

}
@verride
public void run() {

try {
whil e(step < total Step) {

Thr ead. sl eep(1000);
st ep++;
Systemout.printf(" ST % 3% .. %", step);
}
} catch(InterruptedException ex) {
throw new Runti neException(ex);

}
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Thread Hare.java

package cc. openhone;

public class Hare inplenents Runnable {
private boolean[] flags = {true, false};
private int total Step;
private int step;

public Hare(int total Step) {
this.total Step = total Step;

}
@verride
public void run() {
try {
while(step < total Step) {
Thr ead. sl eep(1000) ;
bool ean isHareSleep = flags[((int) (Math.random() * 10)) % 2];
i f(isHareSl eep) {
System out . print|n(" @R FEET 2z222");
} else {
step += 2;
Systemout.printf("RFET % F...%", step);
}
}
} catch(InterruptedException ex) {
throw new Runti neException(ex);
}
}
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Thread TortoiseHare2.java

package cc. openhone;

public class Tortoi seHareRace2 {
public static void main(String[] args) {
Tortoi se tortoi se = new Tortoise(10);
Hare hare = new Hare(10);
Thread tortoi seThread = new Thread(tortoise);
Thread hareThread = new Thread(hare);
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tortoi seThread. start();
hareThread. start();
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11.1.2 Thread E2 Runnabl e
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